HIT -1
2= R w anulRa (01-15) agReada usit &
IR dfSq
frafaf@e vds ual & Py ardwfRa sw g, i A Fae &
IR Al 8, U T IW &1 T HfSg)
Q.1 IR ez | & g ! &1 7 Hifog?
(AT (B)Fuar  (C) Fwr (D) fore
Q.2 '391g" &1 fae ez @ gtan 82 aaTsy|
A fafsa @®)www () (D) wfSa
Q. 3 '3[Rt W A Aty F Juge Y Bifey -
(A) 3ART &1 (B) au # T@AT (C) g Hgad &1 (C) aF &1
Q.4 W@l S &S gl I e 8-
(AW (B) HfdTam () wEgef (D) s
Q.5 W & el sy | arag # F19- 91 F1 82
(A) yaaTe (B) uifasg &ret
(C) adwT= &1 (D)W A @ S 7
Q.6 '3iiAT U=E &1 yargaTdt WU 8-
(A) @e=T  (B) URHT (C) HIeTa &A1 (D) SFHTH &=
Q7. Fr=fof@a aredt 7 @ g are &1 97 o)
(A) T8 &9 &er & Ugd1 81 (B) 98 aud! e # ugar 81
(C) @8 zud @en & ugar 81 (D) @ zHi wen & ugan 81
Q.8 'Wa -ya= e vl & 3fRa gt &1 9u= Hifog-
(A) &9 -G9R  (B) GIehH -7y (C) HehTH -8 (D) 89 -9R
Q.9 ‘urEr wRe & favfh aaey?
(A)3 (B)& (OF (D)@, & g
Q.10 F1fdFy v # F=faf@e § @ af- a1 ww &2
(A) FHURG T E (B) TGS HHIE

(Ofz7 wmr (D)agaE T
FPrafaf@a srqedz &t ugaw g mg ust & sww §ifSig)

aft werfEal s gt 8, o= 32 i sl F wgraan e 21
SiTelt & HenfEat it ovg ure d, fBum # ok WivH uszA d
Hez fAedt @1 aga dt mafEar sroa el § 3708 &A1 us ahedt
2, fored 393 a1v2 uas a1y ofik iftva e & et Rrafan g
2 3R 39 uaR @ WiviF ushe | aaf3dal ) ggraar & &) 5"
&1 e S J Iga 3rran @, a e e @ 3R-IeR R 2,
TR e &1 U ST & R 99T o A8 Gahar, aaifes ag
T BT 81 Hehdt o At @ o e tha man @, i s e &
feer @1 srgwa gtar @ 3Rk wedl e aa uga el 21

Sirel & fae aendt 31 81 @ urdh o ag et @1 mafal it
st w87 & forg sret anfRy, fveg af smmuest o v d ot =
kﬁﬂ,ammaﬁaﬁ%mwmﬁﬂtﬁm

v fagor Harg et 3 wfaaifar o
HaTER Fa1a faaTer waer gden wam- 9 Hise Y- 02

Q.11 g e ea &u & frad ar 7 872

(AT Fa  (B) ARG & et

(C)madt & aru2 (D) et & @rer yard

Q.12 H&E! & SiTet G -8l ald-

(A) avgiwtum | (B) WioH &l ushga &
(C)srEimtaad (D) Fd &tz

Q.13 Aafal @ o= ot & 6 37 oiret o R b mar?
(A) 3 & gt &1 (B) @ 3& gueht &

(C) A IhehT wa &t &1 (D) A 34 3wt &)

Q.14 R & Herdt &1 wiren 7 e &1 gg e ¢ 8 -

(A) 7erdt &t 37 v g1 1 (B) wardl angR Farerm d @ 21
(C) marg |t g 1 (D) werdt ¢ &t gt

Q.15 g ‘Shifa g &1 aid 8-

(A) @wrar (B) @1 (C) &t (D)

T -2 (English)
English fAwa o= smaRa (16-30) aglaedia nsit
& IR v
In the following questions (16,17,18) choose the correct synonyms.
Q16. SCORN
(A) Bias (B) Concise (C) Despise (D) Praise
Q.17 COMOUFLAGE
(A) Disguise (B) Fabric (C) Cover
Q.18. PARADOX
(A) Puzzle (B) Question (C) Challenge (D) Paradise
Q.19. Find the correct spelt word.
(A) Tranquility (B) Trankquillity (C) Trankquillity (D)
Trankwillity
Q.20. Find out correct spelt word.
(A) Diarhe (B) Diarrhoa (C) Diarrhea (D) Diarrhoea
Q.21.Select appropriate one word substitution.
A hundred year old man.
(A) Century (B) Centenarian (C) Cent (D) Centurion
Q.22. Give one word best substitute to the phrase.
A remedy for all disease.
(A) Panacea (B) Medica (C) Medical (D) Medicine
Q.23. Select the synonyms of LOATHING
(A)Affectation (B) Affection (C) Hatred (D) Warmth
Q.24. Find the correct spelt word.
(A) Occasion (B) Occassion (C) Ocassion (D) Ocasion
Q.25. Select the antonym of TIMID
(A) Gentle (B) Snicker (C) Brave (D) Tired
Q.26. Find the opposite of EXODUS
(A) Stay (B) Departure (C) Normal (D) Typical
Q.27. Find the word just opposite to PROVOKE
(A) Insult (B) Soothe (C) Anger (D) Encourage )

(D) Demonstrate




1 Read the passage below and answer the following

questions:(Q 28,29,30)
Bachendri’s story stands as an example of how going against

your family’s wishes can be hard but important from time to
time. Raised surrounded by the Himalayas towering around
her hometown, she intended to climb it one day and focused
on becoming a professional mountain climber. Moreover, she
received a lot of discouragement for being a girl trying to take
on such a phuysically challenging path. This only fuelled her

and even losing sensation in her toes, She was one of the few
who finally made it to the top creating history by being the
first Indian woman to reach the summit.

Q28.. Which mountains surrounded Bachendri’s hometown?

(A) The Himalayas (B) The Alps

(C) The Mountains (D) Mt. Everest

Q29. What did she want to become on growing up?

(A) Doctor (B) Professional mountain climber

(C) Engineer (D) An athlete

Q 30.Whuy did she receive a lot of discouragement?

(A) Because she was a girl

(B) Because she was weak

(C) Because she was incapable

(D) Because her family did not support

9T - 3 (for)
nfore v @R sruRa (31-65) agReeia usit &
IR &SI
Q.31 V1225=7?
(A)25 (B)15 (C)35 (D)45
Q.32 v(0.049x0.016x0.09)/(0.81x0.036x0.064) = ?
(A)9/42 (B)7/36 (C)4/64 (D) 8/81
Q.33 V2Ax = 256 dl x &1 HT FTd &t |
(A)18 (B)16 (C)20 (D)24
Q.34 *V74088 = 2
(A)12 (B)32 (C)22 (D)42
Q.35 15 - *V27 - V125 - V64
(A)3 (B)5 (O)4 (D)12
Q.36 Ut HATHR a5 &Y U oen 5 It 1 I g &1 g
ghm:-
(A) 816 =1 @1, (B) 100 g1 &+, (C) 125 g=1 &1 (D) 5 97 1.
Q.37 G HIfoa:- (81)%
(A)3/4 (B)27 (C)64 (D)82
Q.38 (1/64)*-%; &1 A &:-
(A)16 (B)26 (C)63 (D)4
Q.39 a*m x a*n & HI N
(A) a*(m+n) (B)a*m/a*n! (C) a*(m/n) (D) a*v(m/n)
Q.40 1 {ft ufdy Teed 9= gt &2
\(A)ﬁ (B) & (C) 379 A &S 7@ (D) U i @

passion; she was selected to be part of an expedition to the top (A) 33:10 (B)18:33 (C) 10:33 (D) 9:12
of Mt. Everest. She braved being buried in snow, fierce icy winds Q.45 5/4 @1 wfasra &4 ghm-

| (A)x#y. (B) 2x+y (C) x +4y (D) 3x+2y

! (€) 1200 & ez, 60 Hiex (D) 1000 & ez, 50 Hiex

C(A)x*+x+3 (B)x*+2 (C)2x* (D) x* +3x

Q. 41 =T | ¥ V3 1&g UehR &1 T&T 8- }
(A) = (B) ufddm () sy (D) & =

Q.42 2:5 & U & VS U | 1 Siter 9Y fF ag 5:6 & W
g omd-

(A)15 (B)13 (C)40 (D) 22

Q. 43 afe & w@y 2:3 & 3rura # & ok 519 3 HeEme | 8 Wi
foa Siman 2 &t 3:4 g e 8, 41 S &1 g 8-

(A)40 (B)45 (C)61 (D) 31

Q.44 afZ a:b = 5:9 YT b:c = 6:11 Bl @ a:c &1 7 EIT-

(A)125% (B) 0.05% (C) 1.6% (D) 50/40%
Q.46 20% ! ZIHET H T Hl-
(A)0.2 (B)0.8 (C)0.5 (D)O0.10
Q.47 Ua Y& &1 hd e N0 au1 faesd gea 3123.20 81 3@
A9 W gass fashar &t e ufdera &mw ghm?
(A)20 (B)25 (C)27 (D)12
Q.48 g x = 3t, y = va(t + 1) @ t 1 ag 714 F1d Fifod
fog x = 2y 8-
(A)1 (B)-1 (O)% (D)%
Q.49 af% a+b+c =0 & @l a’+b*+¢* =2
(A)o (B)3 (C)abc (D) 3abc
Q.50 (1-27x*) = ?
(A) (1-3x)(1+9x*-3x)  (B) (1-3x)(1+3x+9x?)
(€) (1+3x)(1-3x+9x?) (D) 379 @ &g 7l
Q.51 f(x) = 12x* - 13x* - 5x +7 & (3x + 2) & Rwifoa g sran 2

at e ghm-
(A)o (B)2 (O)1 (D)~
Q.52 & T1 &wa fZuél @2

Q.53 Torw fo | afe x=4, y=3 g at smga & g &t 9z g

(aeaple

. (uesphe <

(A) 4¥to,9 Hto (B) 8+fto, 11510 (C) 7o 43fto (D) 6 o, 6+fto

Q.54 &1 & Uty 3x M 8, a8 IO | 2y W AR AN 2, sr@d &
O Fel HHE -

Q.55 a1 agys rgd smaa ara Y ] aaiaR g Hgardr e-
(A)3mad (B) @ (C) wHagys (D) wicR agys

Q.56 &1 FHIaR ags foraeT udes &ivr 90° &1 g1 &gerdl 8-
(A& (B)smad (C)udm (D) FHEGHS

Q.57 Ua Ot st foverdht Rt soiTd e gt aut el &ior 90° &
& Fgerar 8-

(A)wdnm  (B) & (C)3maa (D)FHEgHS

Q.58 U@ IareR y@e $i dard a derd wmaar: 40 Hex 3 30 Hiw 2
WS &1 &ther a 3T el &t ward 7ra o
(A) 1000 & ez, 60 Htex (B) 1200 af Hitex, 50 #ex J




Q.60 Y& agw & faaof &t diard d St @ qur 3u RAuda ol
A farpof w 3rat 1y et 6 dard 1@ P2 @ & 31 IS 1 fFwe
(311)"(1)1 +P2)xd  (B) %a(P1xP2)x d

(C) va(P1+P2)+d (D) %:(P1+ P2)d

Q.61 Y& UTd &l thepat Uz 5 37 &Y wnfemar ghft-

(A)% (B)% (C) » (D)%

Q. 62 20 &% 3R 15 &1t & U& af= A 3reft et & g g4 i &t
g &Y Fwra et gt wadt 82

(A)15/35 (B)15/20 (C)20/35 (D) 20/15

Q. 63 3Ter@ & F1a HIfSR s vt a=af 3 20 | &9 3ia TIg-

iz
(A)35 (B)45 (C)65 (D)85 !H

Q. “ﬁnﬁawmmmﬁmﬁﬂﬁnﬁﬂaaﬁ

&f%mzaﬂm?-‘ = 25 ufear o d338343
uﬁtaﬁﬁmwmﬂa;mnéaftﬁﬁﬁﬁ;%aga}m
d 39& Uiy et 9 S &2

(A)500 (B)550 (C)575 (D)625

Q.65 ¥ &y g uré aré & uas e & 3000 fenfiat
ﬁﬁamﬁmmﬁnﬁamﬁmalﬁﬁﬁso
wefai & Renea & deat @ ufaea e 22 -

AP-%
(A)39 (B)S6 (C)28 (D)42 .v

fasm= g o= snutlRa (66-100) aglaaedta usit
& I Sl

Q.66 a1X (stars) &

(A) @ uafa fig  (B) g@d & uamyr & wanifa fis
() &=t (D) @1 @t

Q67TEEAR

(A) @y yafda fiz  (B) @ & wanier & wanifaa fig
(C) 2 (D) FHE &

Q.68 &1 (Constellation) g1 &

(A)arR1 (B)W§ (C) I &1 &HE (D) U8 &I &3
Q.69 gt & Had Tl H1 a8

(Mg B)ar (C) @ (D) FE

Q.70 AR & uferar Hd @

(A)gE (B)WE (C)3uUE (D) F&H

Q.71 THIIE: el A&7 Y deE gt @
(A)84 (B)74 (C) 88 (D)O05

Q72 9t

(A)amr (B)F&F (C) 718 (D)@

Q.73 9R #ee | gt ugl i www @

(A)8 (B)9 (C) 7 (D) 3m

Q.74 forg wnfRes &1 g: aehor wwva 78 @

(A) ynTenfRes (B) uniafén wnfes (€) 241 &1 (D) &1 =&t
Q.75 ¥ U aTet = R Ry wnfRe 6 ua vedt 8
(A) Bhfora (B) 2ueiar (C) ufeltfd= (D) ddenge

Q.76 wifRa &t 2t anf & afer mar @

\(A) FRAT & IMUR | (B) TTeiTeh & STHTR TR

) | (C) IURITh &Il &h ATUR W (D) IWRI<h his Aol ’
(S;Ts;at;:waﬁmm e a1 SmuR 12 Ft 7 of 13 St ) Byw ket ‘ \
. (A) T (B) @fEAm () @1 (D) & @
(A) 30 @i Tft (B) 45 a7f @t (C) 42 af @t (D) 20 &f Tt Q.78 2

(A) e (B) &fRrm @

(C) dgffmmar (D) fanedt o =gt

Q.79 & UraT Sl &

(A)Sfraroy & (B) Rwrgy & (€)1 (D) wE @

Q.80 forg &t &t g9 Wie & w9 & Iudh R T 8
(A) eictdaez (B) @WigsaHl (C) awaidifen (D) &id gt
Q.81 frt & & f &1 Iuah = & @4 A Jg gd & w0 F &
2

(A) Ffwra  (B) AT (C) @ (D) @t @
Q.82 e, @rst gt @

(A)Sflap & (B) ammo & (C) widtsitsn & (D) ®aw &
Q.83%H e

(A) darsht Saa (B) 92t Saa  (C) @t (D) &YE =gt
Q.84 WIgH &

(A) T Fad  (B) 9ifedt Saa (€)@l (D) &1 78t
Q.85 Sigail # wH-ay wfta gl @

(A) d@T da grRr  (B) 3= |t afdat &

(C) @t & (D) st &

Q.86 TR &1 T glar @

(A FTEH (B)FHEH (C) T A (D) HerE A

Q.87 CGS uzfa & 7« &1 " ghar

(A) =g (B) =15 (C) 3T (D) &iE et

Q.88 SI ugfa # &l &1 7 gl 8

(A)geA (B) s1gA (C) @l (D) &I el

Q.89 SI ugfa & WR &1 "ES ghar &

(A) e (B) 3137 (C) fattum (D) &t et
Q.90 & # gan 8

() ez (B) afmmor (€)@= (D) & &

Q.91 Hge fafy @

(A) 3 o= Y (B) @t SR Y (C) ST Y (D) &t
Q.92 fzfenft g 2

(A) &gan (B) it (C) @1 (D) @t 7

Q.93 Jiafe fAdas grar @

(A)faseit & (B) smesft & (€)@=t A (D) fneft & 5t
Q.94 Sigsit # Frarar & fog smaws 81

(A) 9S4 (B) 9SUT (C) & (D) wioH

Q.95 Aga # fdw ghar @

(A) sridfe (B) @mgl (C) a1 (D) g et

Q.96 HId A &1 4 giar &

(A) S@ae (B) Iwel (C)aHt (D) &id el

Q.97 #ra A3 A gy & ufafda a=ar

(A) @11 . (B) gaelt )R (C) AT (D) dFE W

Q.98 fhg &1 & g: Inafdra ¢t v o wawa 8

(A) mufas = &t (B) fZdas @@ &t (€) i &t (D) vt &t
oft =t

Q.99 dur Fargs 94 8

(A) wiufdss @« (B) fZdftas @& (C) @41 (D) Y& &«
Q100 Fad & THE HI FEd 8

| (AR (B) T (C) FIAFT (D) ST J




01- (B)
02- (C)
03- (B)
04- (A)
05- (B)
06- (B)
07- (B)
08- (A)
09- (C)
10- (D)
11- (B)
12- (D)
13- (C)
14- (D)
15- (D)
16- (C)
17- (A)
18- (C)
19- (C)

20- (D)

.

~
TaTER Fa1q faaTera waer qHe Ha- 9 HisH YW~ 2 (ITHTET) ?@“;

fove fgor g wee @
21- (B) #1- (C)
22- (A) 42- (B)
23- (B) 43- (A)
24- (A) 44- (C)
25- (C) 45- (A)
26- (A) 46- (A)
27- (B) 47- (D)
28- (A) 48- (C)
29- (B) 49- (D)
30- (A) 50- (B)
31- () 51- (C)
32- (B) 52- (B)
33- (B) 53- (A)
34- (D) 54- (D)
35- (A) 55- (D)
36- (C) 56- (B)
37- (B) 57- (B)
38- (A) 58- (B)
39- (A) 59- (A)
40- (B) 60- (D)

FTdl 9

61- (A)
62- (C)
63- (A)
64- (C)
65- (A)
66- (A)
67- (B)
68- (C)
69- (A)
70- (B)
71- (C)
72- ()
73- (A)
74- (B)
75- (B)
76- (C)
77- ()
78- (A)
79- (A)

80- (B)

81- (D)
82- (D)
83- (A)
84- (B)
85- (C)
86- (D)
87- (B)
88- (A)
89- (A)
90- (C)
91- (A)
92- (C)
93- (C)
94- (A)
95- (B)
96- (B)
97- (C)
98- (A)
99- (B)

100- (B)




